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There it is because it is not a v of severance.

OVERVIEW

Our X m3x concludes that the reason 17 maintains that the 72%7 is according
to "7 that N1 % XX XY, if the IR was 2»wn in the 0w v3, is because it is
not a Xv>x M12. Our NMBOIN quotes a X713 in 2"2 where it seems that 1"7 does
not agree with the reasoning of Xv°x 13 X7, and reconciles the difference.

nvoIN asks:
= M7 SYPIPNI »1aY [199991Y 93] (x,3p 97 xana xa2) NNIY M PI92T 9NN ON)

And if you will say; that in n»w s» P92 [the X7 wanted to say that]
slaves are considered like immovable property [only] -

= 19990 12 XYY XD NINY D ¥p9P 99T 711 1YY 79999
And the X723 (there) challenges this assumption that *ypapn3 72y, from this
[71wn which states] that if he retained any amount of ypap the 72V does

not go free. The X3 there continues to expound the question —
= 72 YN VY PHVOVN VY M7 29 NYY ININD)
And %7 21 said concerning this 71wn; the o°non instituted that PPHubun
should also be considered a retention concerning the 7ay. If the N stated
that he is retaining 1°20%0n, the 72v does not go free either; the same as if the 17X retained
e -
- NAYL SN 1IN 299 N3 1Y 9IN)
And X21 asked 1''% what is the reason that p>v%un are also considered a 7w for
the 72v. We seemingly always assume that "»7 *ypapnd X72y. The fact that he retained

1"20%un should have no bearing on the 72¥ who is considered yp1p —
= 42y SEN 99U MM HVHVNMI 1T YHVHVNI NTAYT DIYN DD 9N

And 1" answered to X27: because 272y are like Pwubun [also] and

1oubun is considered a 21w for the 72v. This concludes the question of the X3,
We see from 1" that >72¥ is also "7 *20%012; not as we supposed that it is only ¥pIpnd

»7. The X713 there continues, to answer this question —
= 11919351 NI RV 171199 INDT DIVN )IN YYUN 29 %Y

And >wR 29 answered this question; we interpret the reason why it is
considered a 21w and the 72V is not MM XYY, it is because it is not a N>
NI, Really »7 °¥papnd >72y, and as an explanation of »2>7 27 who said W 1PH0%070 Wy

I The X"w"rn amends it as such.
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72y D¥R, it is not (as 1"1 answered) on account of »7 >Pvbund *7av that it is considered a
2w, but rather since there was a 7 in this "vw. This concludes the &an3.

moon now presents his question:
- 907 YDVVND NTAYT DIVN NNPYV YT 19IN) 397 ¥yIYN

It seems that 1''5 who explained the reason, why the 72v is M7 1> R¥> X7 is

because an 72y is like 7»ubumn -
= NI NV 51999 INYT XNYO© 1YY Y

He does not agree with the reason of X N2 IXY. In our X3 however we
say that the reason 1" says n"13 7997 concerning 722 91w is on account of X1 N7 WY
and from the X3 quoted in 2"2 it seems that the reason is because 17 “20%015 872y and
not because of Xu’3 N1 5.

NID0IN answers:
= 199351 NN RV 7D INTT DIV 1IN 1Y 351 DNNT DN 13929 9IIN)

And the n''1 says that there in 2"2 the explanation of the X723 is as
follows: when >wx 27 said we understand the reason is because it is not a

R 1192, he did not mean to dispute 1"7; but rather *wX 27 claimed -
= NN YHVHLVNS NTAYT DIVN KDY NA9D 19N 249 2PVh TV

That this is what 1'% actually responded to X29; that the 72¥ does not go

free since it is not a Xv° MO but not because X7 SHubVMAD K72V, WX 11

maintained —
= O2IYN )IN) 29 )9 BPVYN NOY

That 1''9 never responded in this manner that *>05v1> 872, but rather 173 WR?7
R KL -
- NN Y97 INNYLY ONNT OUN 29 XYM

And now "wX 29 there in 2"2 follows the reason which *wX 27 explained

here-
1OV Y991 NINY 1199 NN NV 5199 INDT 0Ivn M0 12303 297 NNPYL

That the reason of 1''1 is because it is not a Xwx n17> as WX 27 explains

there in 2"2. In both places *wX 21 explains that the reason of 1"7 in the case of W is
because X7 X3 N7 WY,

SUMMARY
When "wX 27 said in 2"2 that 739 3°1072 X0 M2 187 2w 13X he did not mean

2 Others amend it to 7nyu? as it is written in the "X Moo, The translation would be changed to: ‘his
reasoning’
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to say that he disagrees with 1211 27 who maintains that >»7 *%u5%0n2 R72Y.
Rather WX 217 claimed that 1"7 never gave this reason of *»7 *ypapnd >72v.
The only reason 1"1 gave according to *W& 27 was X7 RuX M12 W27 The
same reason that *wX 217 gives here to explain 1".

THINKING IT OVER
If we were to assume that 1"9 maintains 17 *20701d 72y, would n"9 agree
that X712°7 73°3%9 or not?
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